¥ l\ ——
2 1102 F<F 2RABpERFIRE ==> R 2
AN iz 5
#1: 4 EFHEGL) #2: 6 aEréPiﬂb(SO) #3: 7 B SR8 5a(26)
1 INS: S 4£F 2 (BHO) -52 7 NS: #FmE SHE(BAC) 4 0.00 20.00| Total VP: 4.25 Rank:
EW: 2308 SRBEEEAC) -4 EW: #iE3E R5A{_(FH0) 52 IMP:| 4 57 1
__ __
# 11 » Q52 3HW-150 Mean: 4HXW-4 800 11.0 1 |[|# 12 a Q54 3NE3 -400 Mean: 3NE-1 50 80 2
v A87 3NN4 430 240 3NS4 430 50 1 v KT6 3NE-150 -310 A 00 4
¢ J952 Dif: -380 NS:-5 3NN4 430 50 2 ¢ T53 Dif: -450 NS:-3 3NE4 430 3.0 2
& AJ7 IMP: -9 EW:-5 3NN3 400 40 1 a 7432 IMP: -10 EW:-8 3NE3 400 3.0 2
a4 #» KT863 A 00 4 ||aT97 & AJG2 3NW5 460 40 1
v 94 v KQJT5 3HW-1 50 50 1 ||v Q84 | v A5 3NE5 460 40 1
+ AT876 * 3NN-1 -50 7.0 1 + AQ976 * KJ
& K9643 & T82 5DXS-3 -500 -12.0 1 QT & KJ865
B¢V AN A7 B+ e VAN ,K83
N ~3~14 ¢632 N ~~~~~ v J9732
S ~3~14 ¢KQ43 S ~~~~~ ¢ 842
E ~~~~~ & Q5 E 54~44 aA9
~~~~~ W 54~54
# 13  KT752 4SN-2 -200 Mean: 2SN3 140 7.0 1 |[|# 14 » AKJB6 5CS-1-50 Mean: 5HXE-2 300 80 1
v A982 3NS-3-300 -150 2HS2 110 6.0 1 v3 5CS-1-50 -30  5HXE-1 100 40 1
* KJ Dif: 100 NS:-2 3NS-1 100 20 1 ¢ QT8 Dif: 0 NS:-1 4HE-1 50 20 1
& 65 IMP:3 EW:4 A 00 4 & AKJ2 IMP: 0 EW:1 A 00 4
s 98 N & QU43 4SN-2 200 20 1 ||s QT54 a 93 5CS-1 50 1.0 2
v T3 v KJ54 3NS-2 200 2.0 1 || K542 v AQ9876 5CXS-1 100 20 2
+ ATO87 + + Q53 NS-3 300 40 1 ||e 7632 + AK54 4HE5S 450 90 1
& QJ43 & T9 3NN-3 300 40 1 ||a9 a6
F VAN A6 3NS-4 400 6.0 1 FOVAN o 72
N 2~331 «Q76 N 4~~3~ oJT
S 2~331 642 S 4~~3~ ¢J9
E ~1~~~ &AK872 E ~23~~ & QT87543
~1~~~ W ~23~~
# 15 & A987652 5SXN-2 -500 Mean: 5CXE-1 100 6.0 1 |[|# 16 a AT72 4HN-2 -100 Mean: 5CXW-4 1100 13.0 1
v J85 5DW-150 -150 2SN2 110 6.0 1 v AKQ98 2HS3 140 290  4HXN4 50 7.0 1
* KJ Dif: -550 NS:-8 5DW-1 50 50 2 ¢ 9874 Dif: -240 NS:-9 4HN5 450 4.0 1
&9 IMP: 11 EW:-5 A 00 4 » IMP: -6 EW:4 A 00 4
a KJ4 'S 4SN-2 200 20 1 ||a Q5 » KJ983 2HS3 140 40 1
v Q43 v K76 3NW3 400 6.0 1 [|e 62 —_— v J75 3CW-1 100 -50 1
+ A986 ¢ T432 3NW4 430 7.0 1 |]|e KQ6532 . 2HS2 110 50 1
& K64 & AQT873 5SXN-2 -500 8.0 1 ||& KT5 & A7432 3NS-1 -50 -8.0 1
* ¢V AN ,QT3 FOVAN o064 4HN-2 100 9.0 1
N ~~~3~ 9AT92 N ~12~1 ¢ T43
S ~~~3~ ¢Q75 S ~12~1 ¢ AT
E 44~~2 &J52 E 1~~1~ aQJ986
33~~2 W 1~~1~
# 17 o AT432 5CXWS5 -550 Mean: 5HXW-3 500 11.0 1 |[|# 18 s Q 5SXE5 -650 Mean: 5DXS5 750 120 2
v 84 3NN-4 -200 -30  4SN4 420 100 1 v T976 4SXE5 -690 110  5DS5 600 10.0 1
¢ J2 Dif: -350 NS:-11 5CXW-1 100 40 1 ¢ T954 Dif: 40 NS:-13 4DS4 130 1.0 1
& QJB6 IMP: -8 EW:5 A 00 4 & T983 IMP: 1 EW:13 A 00 4
aJ # 9875 5DS-1 50 1.0 1 []|ae K532 #» AJ964 4HXW-1 100 00 1
v AKT763 v Q9 3HW4 170 4.0 1 ||e AK84 | v QJ52 5DS-1 100 -50 1
*3 ¢ QT7 3NN-4 200 50 1||e6 ¢ J82 5SXE5 650 -13.0 1
a A9543 a KT72 4SXS-2 2300 7.0 1 ||a 7652 aJ 4SXE5 690 -13.0 1
% ¢V AN ,KQE 5CXW5 550 110 1 * e VAN oT87
N ~4~3~ 9J52 N 34~~~ 3
S ~ 4 ~ 3 ~ ¢ AK98654 S 34~~~ ¢ AKQ73
E 4~3~~a E ~~35~ aAKQ4
4 ~3 ~~ W ~~35~
# 19 aT9 1NW2 -120 Mean: 1NE-1 100 50 1 |[|# 20 a4 5HW5 -650 Mean: 6HW-1 100 130 1
v Q653 1NW2 -120 -110  1NWA -90 10 1 v 742 5SW-1100 -660 5SW-1 100 130 1
o AJ42 Dif: 0 NS:0 1NE1 -90 10 1 ¢ QT43 Dif: -750 NS:0 A 00 4
& T43 IMP: 0 EW:0 A 00 4 & T9765 IMP: -13 EW:-13 5HW5 650 0.0 1
# J86 #» KQ43 1NW2 120 0.0 3 ||a A8762 » KT9 4SE5 650 0.0 1
v AK7 v JT42 1NE3 150 1.0 1 ||e AQJT98 + v K65 5HW6 680 -1.0 1
¢ T9763 * K 2CXN-2 300 50 1 ||e2 * J9 4HW6 680 -1.0 1
a KQ  J876 &8 » AKQ43 6HW6 1430 130 2
B¢V AN ,A752 *eVAN 4, Q53
N ~1~~~ 99 N ~~~~~ 3
S ~1~~~ ¢Q85 S ~~~~~ + AK8765
E ~~111 &A952 E~~541 al
~~211 W ~~541




¥ l\ ——
2 110£E<§ 2RBERF IR = R2 2
PAN 3z 5
#1: 4 BEETE0G14 #2: 6 aEréPiﬂb(SO) #3: 7 Bg IR F(26)
2 INS: 2288 PR THE(REO) 20 6 NS: 3EE4 BIRs5(BAC) 12 10.00 : 10.00| Total VP: 25.75 Rank:
EW: ERF¥ o2 EAC) -12 EW: fI5RE) #E3R(FO) -2 IMP:| 37 37 4
_ -
# 11 4 Q52 3NS4 430 Mean: 4HXW-4 800 1.0 1 # 12 » Q54 3NE5 -460 Mean: 3NE-1 50 8.0 2
v A87 4HXW-4 800 240 3NS4 430 5.0 1 v KT6 3NE3 -400 -310 A 0.0 4
¢ J952 Dif: -370 NS:5 3NN4 430 5.0 2 ¢ T53 Dif: -60 NS:-4 3NE4 -430 3.0 2
& AJ7 IMP: -9 EW:-11 3NN3 400 4.0 1 & 7432 IMP: -2 EW:3 3NE3 -400 3.0 2
a4 # KT863 A 0.0 4 a T97 & AJ62 3NW5 -460 40 1
v %4 v KQJTS 3HW-1 50 -5.0 1 v Q84 I v A5 3NES5 -460 40 1
+ AT876 . 3NN-1 50 7.0 1 |]|e AQI76 * KJ
» K9643 » T82 5DXS-3  -500 -12.0 1 QT » KJ865
f e VAN A % ¢ VAN ,KS3
N ~3~14 ¢632 N ~~~~~ v J9732
S ~3~14 ¢Ka43 S ~~~~~ ¢ 842
E ~~~~~ & Q5 E 54~44 aA9
~~~~~ W 54~54
# 13 » KT752 3NS-1-100 Mean: 2SN3 140 7.0 1 # 14 & AKJ86 S5HXE-2 300 Mean: 5HXE-2 300 8.0 1
v A982 3NN-3 -300 -150 2HS2 110 6.0 1 v3 5HXE-1 100 -30 S5HXE-1 100 4.0 1
o KJ Dif: 200 NS:2 3NS-1 -100 2.0 1 ¢ QT8 Dif: 200 NS:8 4HE-1 50 2.0 1
& 65 IMP: 5 EW:4 A 0.0 4 & AKJ2 IMP: 5 EW:-4 A 0.0 4
s 98 [\ & QJ43 4SN-2 -200 -2.0 1 & QT54 a 93 5CS-1 -50 1.0 2
v T3 v KJ54 3NS-2 -200 -2.0 1 v K542 v AQ9876 5CXS-1 -100 20 2
+ AT987 + + Q53 aNS3 300 40 1 ||e 7632 + AK54 4HE5 450 90 1
& QJ43 & T9 3NN-3 300 40 1 ||a9 &6
POV ADN 4,A6 3NS-4 -400 -6.0 1 P OVABN 4,72
N 2~331 ¢Q76 N 4~~3~ oJT
S 2~331 ¢642 S 4~~3~ ¢J9
E ~1~~~ &AK872 E ~23~~ &QT87543
~1~~~ W ~23~~
# 15 » A987652 5DW-1 50 Mean: 5CXE-1 100 60 1 [|# 16 » AT72 5CXW-4 1100 Mean: 5CXW-4 1100 13.0 1
v J85 5CXE-1 100 -150 2SN2 110 6.0 1 v AKQ98 2HS2 110 290 4HXN4 590 7.0 1
o KJ Dif: -50 NS:5 5DW-1 50 5.0 2 ¢ 9874 Dif: 990 NS:13 4HN5 450 4.0 1
29 IMP: -2 EW:-6 A 0.0 4 » IMP: 14 EW:5 A 0.0 4
& KJ4 » 4SN-2 -200 -2.0 1 4 Q5 & KJ983 2HS3 140 40 1
v Q43 v K76 3NW3 400  -6.0 1 ||w 62 — v J75 3CW-1 100 50 1
+ A986 ¢ T432 3NW4 -430 -7.0 1 + KQ6532 * 2HS2 110 5.0 1
» K64 & AQT873 5SXN-2 500 -80 1 ||a& KT5 a A7432 3NS-1 50 -8.0 1
POV ABDN 4QT3 FOVABN 4,064 4HN-2 -100 90 1
N ~~~3~ 9AT92 N ~12~1 ¢T43
S ~~~3~ Q75 S ~12~1 ¢ AT
E 44~~2 &J52 E 1~~1~ aQJ986
33~~2 W 1~~1~
# 17 » AT432 4SXS-2 -300 Mean: 5HXW-3 500 1.0 1 # 18 s Q 4HXW-1 100 Mean: 5DXS5 750 120 2
v 84 5DS-1-50 -30 4SN4 420 100 1 v T976 5DXS5750 110 5DS5 600 100 1
¢ J2 Dif: -250 NS:-7 5CXW-1 100 4.0 1 ¢ T954 Dif: -650 NS:0 4DS4 130 1.0 1
& QJ86 IMP: -6 EW:1 A 0.0 4 & T983 IMP: -12 EW:-12 A 0.0 4
aJ # 9875 5DS-1 -50 -1.0 1 & K532 & AJ964 4HXW-1 100 0.0 1
v AKT763 v Q9 3HW4 -170 -4.0 1 v AK84 I v QJ52 5DS-1 -100 5.0 1
+3 ¢ QT7 3NN-4 -200 -5.0 1 ¢+ 6 ¢ J82 5SXES5 -650 -13.0 1
& A9543 & KT72 4SXS-2 -300 -7.0 1 & 7652 aJ 4SXE5 -690 -13.0 1
P ¢V BN 4KQ6 5CXW5 -550 -11.0 1 POV ABDN 4, T87
N ~4~3~ ¢J52 N 34~~~ 3
S ~ 4 ~ 3 ~ ¢ AK98654 S 34~~~ ¢ AKQ73
E 4~3~~ & E ~~35~ aAKQ4
4 ~3 ~~ W ~~35~
# 19 aT9 1NE3 -150 Mean: 1NE-1 100 50 1 |[|# 20 a4 5HW6 -680 Mean: 6HW-1 100 130 1
v Q653 1NE-1 100 -110 1NWA1 -90 1.0 1 v 742 6HWS6 -1430 -660 5SW-1 100 130 1
¢ AJ42 Dif: -250 NS:-1  1NE1 -90 1.0 1 ¢ QT43 Dif: 750 NS:-1 A 0.0 4
& 143 IMP: -6 EW:-5 A 0.0 4 & 19765 IMP: 13 EW:13 5HW5 -650 0.0 1
# J86 & KQ43 1NW2 -120 0.0 3 & A8762 # KT9 4SE5 -650 0.0 1
v AK7 v JT42 1NE3 -150 -1.0 1 v AQJT98 + v K65 5HW6 -680 1.0 1
¢ T9763 * K 2CXN-2 -300 -5.0 1 2 + J9 4HW6 -680 1.0 1
& KQ & J876 &8 & AKQ43 6HW6 -1430 -13.0 2
f ¢ VAN 4A752 % ¢ VAN 4 Q53
N ~1~~~ 998 N ~~~~~ 3
S ~1~~~ Q85 S ~~~~~ + AK8765
E ~~111 &A92 E ~~541 alJ
~~211 W ~~541




¥ l\ ——
2 110 #< 3 >2RpEEF LR E ==> R 2
AN 3z b
#1: 4 EFHEGL) #2: 6 aEréPiﬂb(SO) #3: 7 B SR8 5a(26)
3 NS: 3L FEBEIO) 16 9 NS: Bii54 3tlEF(BAC) -17 16.39 : 3.61 Total VP: 24.21 Rank:
EW: ZEREIR BKEHAC) 17 EW: BfF I8 R(BA0) IMP:| 53 31 5
_ -
# 1 » Q52 3NN4 430 Mean: 4HXW-4 800 11.0 1 |[# 12 » Q54 3NE4 -430 Mean: 3NE-1 50 80 2
v A87 5DXS-3 -500 240  3NS4 430 50 1 v KT6 3NE-150 -310 A 0.0 4
¢ J952 Dif: 930 NS:5 3NN4 430 50 2 ¢ T53 Dif: -480 NS:-3 3NE4 430 3.0 2
& AJ7 IMP: 14 EW:12 3NN3 400 40 1 a 7432 IMP: -10 EW:-8 3NE3 400 3.0 2
a4 #» KT863 A 00 4 ||aTO7 » AJB2 3NW5 460 -4.0 1
v %4 v KQJT5 3HW-1 50 50 1 ||v Q84 | v A5 3NE5 460 -4.0 1
+ AT876 * 3NN-1 -50 7.0 1 + AQ976 * KJ
& K9643 & T82 5DXS-3 -500 -12.0 1 QT & KJ865
B o VAN oA P VABN 4, K83
N ~3~14 ¢632 N ~~~~~ v J9732
S ~3~14 ¢KQ43 S ~~~~~ ¢ 842
E ~~~~~ & Q5 E 54~44 aA9
~~~~~ W 54~54
# 13 a KT752 3NS-2-200 Mean: 2SN3 140 7.0 1 ||# 14 » AKJ86 5CXS-1-100 Mean: 5HXE-2 300 80 1
v A982 3NS-4-400 -150 2HS2 10 6.0 1 v3 5CXS-1-100 -30  5HXE-1 100 40 1
* KJ Dif: 200 NS:-2 3NS-1 100 20 1 ¢ QT8 Dif: 0 NS:-2 4HE-1 50 20 1
65 IMP: 5 EW:6 A 00 4 a AKJ2 IMP: 0 EW:2 A 0.0 4
» 98 N » QJ43 4SN-2 200 20 1 ||a QT54 a 93 5CS-1 50 1.0 2
v T3 v KJ54 3NS-2 200 20 1 |]|w K542 v AQ9876 5CXS-1 100 20 2
+ ATO87 + + Q53 aNS3 300 40 1 ||e 7632 + AK54 4HE5S 450 90 1
& QJ43 & T9 3NN-3 300 40 1 ||a9 a6
VAN A6 3NS-4 400 6.0 1 FOVAN 272
N 2~331 «Q76 N 4~~3~ oJT
S 2~331 642 S 4~~3~ ¢J9
E ~1~~~ &AK872 E ~23~~ & QT87543
~1~~~ W ~23~~
# 15 » A987652 3NW4 -430 Mean: 5CXE-1 100 60 1 [|# 16 » AT72 4HXN4 590 Mean: 5CXW-4 1100 130 1
v J85 4SN-2-200 -150 2SN2 10 6.0 1 v AKQ98 3NS-1-50 290  4HXN4 500 7.0 1
* KJ Dif: -230 NS:-7 5DW-1 50 50 2 ¢ 9874 Dif: 640 NS:7 4HN5 450 40 1
9 IMP: -6 EW:2 A 00 4 ry IMP: 12 EW:8 A 00 4
a KJ4 'S 4SN-2 200 20 1||a Q5  KJ983 2HS3 140 40 1
v Q43 v K76 3NW3 400 6.0 1 || 62 —_— v J75 3CW-1 100 50 1
+ A986 ¢ T432 3NW4 430 7.0 1 |]|e KQ6532 IS 2HS2 10 50 1
& K64 & AQT873 5SXN-2 -500 8.0 1 ||& KT5 & A7432 3NS-1 -50 -8.0 1
* ¢V AN ,QT3 FOVAN 2064 4HN-2 100 9.0 1
N ~~~3~ 9AT92 N ~12~1 ¢ T43
S ~~~3~ ¢Q75 S ~12~1 AT
E 44~~2 &J52 E 1~~1~ aQJ986
33~~2 W 1~~1~
# 17 o AT432 4SN4 420 Mean: 5HXW-3 500 110 1 ||# 18 s Q 5DS-1-100 Mean: 5DXS5 750 120 2
v 84 5HXW-3 500 -30  4SN4 420 100 1 v T976 5DXS5750 110  5DS5 600 100 1
¢ J2 Dif: -80 NS:10 5CXW-1 100 4.0 1 ¢ T954 Dif: -850 NS:-5 4DS4 130 10 1
& QJ86 IMP: -2 EW:-11 A 00 4 # T983 IMP: -13 EW:-12 A 0.0 4
»J # 9875 5DS-1 50 1.0 1 ||a K532 #» AJ964 4HXW-1 100 00 1
v AKT763 v Q9 3HW4 470 4.0 1 || AK84 | v QJ52 5DS-1 100 5.0 1
3 ¢+ QT7 3NN-4 200 5.0 1[|e6 ¢ J82 5SXE5 650 -13.0 1
& A9543 a KT72 4sxs-2 300 7.0 1 ||a 7652 aJ 4SXE5 690 -13.0 1
% ¢ VAN ,KQ6 5CXW5  -550 -11.0 1 eV BN ATE7
N ~4~3~ 9J52 N 34~~~ 3
S ~ 4 ~ 3 ~ ¢ AK98654 S 34~~~ ¢ AKQ73
E 4~3~~a E ~~35~ aAKQ4
4 ~3 ~~ W ~~35~
# 19 aT9 1NW2 -120 Mean: 1NE-1 100 50 1 |[|# 20 a4 6HW-1 100 Mean: 6HW-1 100 130 1
v Q653 2CXN-2 -300 -110  1NW1 9 10 1 v 742 6HWG6 -1430 -660  5SW-1 100 130 1
o AJ42 Dif: 180 NS:0 1NE1 -90 1.0 1 ¢ QT43 Dif: 1530 NS:13 A 00 4
& T43 IMP: 5 EW:5 A 00 4 a T9765 IMP: 17 EW:13 5HWS5 650 0.0 1
» J86 » KQ43 1NW2 120 0.0 3 ||a A8762 » KT9 4SE5 650 0.0 1
v AK7 v JT42 1NE3 4150 1.0 1 ||e AQJT98 + v K65 5HW6 680 1.0 1
¢ T9763 ¢+ K 2CXN-2 300 50 1 ||e2 ¢ J9 4HW6 680 1.0 1
& KQ » J876 &8 & AKQ43 6HW6 1430 130 2
oo VAN 4A752 eV ABN 4, Q53
N ~1~~~ 99 N ~~~~~ 3
S ~1~~~ ¢Q85 S ~~~~~ + AK8765
E ~~111 &A952 E~~541 al
~~211 W ~~541




¥ l\ ——
2 1102 F<F 2RABpERFIRE ==> R 2
AN :z:
#1: 4 EFHEGL) #2: 6 aEréPiﬂb(SO) #3: 7 B SR8 5a(26)
4 INS: [E5=HE £281E(BEO) 26 8 NS: B35l 228R3E(BAC) -19 19.22 : 0.78 Total VP: 31.40 Rank:
EW: R{—%5% B EEAC) 19 EW: MHEX R{ZI5(BFO) -2 IMP:| 50 10 1
__ __
# 11 4 Q52 3NN3 400 Mean: 4HXW-4 800 11.0 1 [[# 12 a Q54 3NE4 -430 Mean: 3NE-1 50 80 2
v A87 3NN-1-50 240 3NS4 430 50 1 v KT6 3NW5-460 -310 A 00 4
¢ J952 Dif: 450 NS:4 3NN4 430 50 2 ¢ T53 Dif: 30 NS:-3 3NE4 430 3.0 2
& AJ7 IMP: 10 EW:7 3NN3 400 40 1 a 7432 IMP: 1 EW:4 3NE3 400 3.0 2
a4 #» KT863 A 00 4 ||aT97 & AJG2 3NW5 -460 40 1
v 94 v KQJT5 3HW-1 50 50 1 ||v Q84 | v A5 3NE5 460 40 1
+ AT876 * 3NN-1 -50 7.0 1 + AQ976 * KJ
& K9643 & T82 5DXS-3 -500 -12.0 1 QT & KJ865
B¢V AN A7 B+ e VAN ,K83
N ~3~14 ¢632 N ~~~~~ v J9732
S ~3~14 ¢KQ43 S ~~~~~ ¢ 842
E ~~~~~ & Q5 E 54~44 aA9
~~~~~ W 54~54
# 13 & KT752 2SN3 140 Mean: 2SN3 140 70 1 |[|# 14 » AKJ86 4HE-150 Mean: 5HXE-2 300 80 1
v A982 2HS2110 -150  2HS2 110 6.0 1 v3 4HE5 -450 -30  5HXE-1 100 40 1
* KJ Dif: 30 NS:7  3NS-1 100 20 1 ¢ QT8 Dif: 500 NS:2 4HE-1 50 20 1
& 65 IMP: 1 EW:6 A 00 4 & AKJ2 IMP: 11 EW:9 A 00 4
s 98 N a QJ43 4SN-2 200 20 1 ||s QT54 s 93 5CS-1 50 1.0 2
v T3 v KJ54 3NS-2 200 2.0 1 || K542 v AQ9876 5CXS-1 100 20 2
+ ATO87 + + Q53 NS-3 300 40 1 ||e 7632 + AK54 4HE5S 450 90 1
& QJ43 & T9 3NN-3 300 40 1 ||a9 a6
F VAN A6 3NS-4 400 6.0 1 FOVAN o 72
N 2~331 «Q76 N 4~~3~ oJT
S 2~331 642 S 4~~3~ ¢J9
E ~1~~~ &AK872 E ~23~~ & QT87543
~1~~~ W ~23~~
# 15 & A987652 2SN2 110 Mean: 5CXE-1 100 6.0 1 |[|# 16 a AT72 4HN5 450 Mean: 5CXW-4 1100 13.0 1
v J85 3NW3 -400 -150 2SN2 110 6.0 1 v AKQ98 3CW-1100 290  4HXN4 50 7.0 1
* KJ Dif: 510 NS:6 5DW-1 50 50 2 ¢ 9874 Dif: 350 NS:4 4HN5 450 4.0 1
&9 IMP: 11 EW:6 A 00 4 » IMP: 8 EW:5 A 00 4
s KJ4 'y 4SN-2 200 20 1 ||a Q5 » KJ983 2HS3 140 40 1
v Q43 v K76 3NW3 400 6.0 1 [|e 62 —_— v J75 3CW-1 100 -50 1
+ A986 ¢ T432 3NW4 430 7.0 1 |]|e KQ6532 . 2HS2 110 50 1
& K64 & AQT873 5SXN-2 -500 8.0 1 ||& KT5 & A7432 3NS-1 -50 -8.0 1
*eVAN ,QT3 FOVAN o064 4HN-2 100 9.0 1
N ~~~3~ 9AT92 N ~12~1 ¢ T43
S ~~~3~ ¢Q75 S ~12~1 ¢ AT
E 44~~2 &J52 E 1~~1~ aQJ986
33~~2 W 1~~1~
# 17 o AT432 5CXW-1100 Mean: 5HXW-3 500 11.0 1 ||# 18 s Q 4DS4 130 Mean: 5DXS5 750 120 2
v 84 3HW4 -170 -30  4SN4 420 100 1 v T976 5DS5600 110 5DS5 600 10.0 1
¢ J2 Dif: 270 NS:4 5CXW-1 100 40 1 ¢ T954 Dif: -470 NS:1  4DS4 130 1.0 1
& QJB6 IMP: 7 EW:4 A 00 4 & T983 IMP: -10 EW:-10 A 00 4
aJ # 9875 5DS-1 50 1.0 1 []|ae K532 & AJ964 4HXW-1 100 00 1
v AKT763 v Q9 3HW4 170 4.0 1 ||e AK84 | v QJ52 5DS-1 100 -50 1
*3 ¢ QT7 3NN-4 200 50 1||e6 ¢ J82 5SXE5 650 -13.0 1
& A9543 a KT72 4SXS-2 2300 7.0 1 ||a 7652 aJ 4SXE5 690 -13.0 1
% ¢V AN ,KQE 5CXW5 550 110 1 * e VAN oT87
N ~4~3~ 9J52 N 34~~~ 3
S ~ 4 ~ 3 ~ ¢ AK98654 S 34~~~ ¢ AKQ73
E 4~3~~ & E ~~35~ aAKQ4
4 ~3 ~~ W ~~35~
# 19 aT9 1NE1 -90 Mean: 1NE-1 100 50 1 |[|# 20 a4 4SE5 -650 Mean: 6HW-1 100 130 1
v Q653 1NW1 -90 -110  1NWA1 -90 10 1 v 742 4HW6 -680 -660 5SW-1 100 130 1
o AJ42 Dif: 0 NS:1 1NE1 -90 10 1 ¢ QT43 Dif: 30 NS:0 A 00 4
& T43 IMP: 0 EW:-1 A 00 4 & T9765 IMP: 1 EW:1 5HWS5 650 0.0 1
# J86 & KQ43 1NW2 120 0.0 3 ||a A8762 & KT9 4SE5 -650 0.0 1
v AK7 v JT42 1NE3 150 1.0 1 ||e AQJT98 + v K65 5HW6 680 -1.0 1
¢ T9763 * K 2CXN-2 300 50 1 ||e2 * J9 4HW6 680 -1.0 1
a KQ  J876 &8 » AKQ43 6HW6 1430 130 2
B¢V AN ,A752 *eVAN 4, Q53
N ~1~~~ 99 N ~~~~~ 3
S ~1~~~ ¢Q85 S ~~~~~ + AK8765
E ~~111 &A952 E~~541 al
~~211 W ~~541




¥ /\ ——
2 (10FF< 3 2 ABBERF 2P E = R2 2
#1: 4 BEETE0G14 #2: 6 aEréPiﬂb(SO) #3: 7 B SRR TE(26)
5 INS: (BHO0) 0 1 0 NS: (FAC) 0 12.00 : 0.00 Total VP: 12.00 Rank:
EW: (1C)0 EW: (B10) 0 IMP:| 0 0 10
# 11 & Q52 A Mean: 4HXW-4 800 11.0 1 # 12 » Q54 A Mean: 3NE-1 50 8.0 2
v A87 A 240 3NS4 430 5.0 1 v KT6 A -310 A 0.0 4
¢ J952 Dif: 0 NS:0 3NN4 430 5.0 2 ¢ T53 Dif: 0 NS:0 3NE4 -430 3.0 2
& AJ7 IMP: 0 EW:0 3NN3 400 4.0 1 & 7432 IMP: 0 EW:0 3NE3 -400 3.0 2
a4 & KT863 A 0.0 4 a T97 & AJ62 3NW5 -460 -4.0 1
v 94 v KQJT5 3HW-1 50 -5.0 1 v Q84 I v A5 3NES5 -460 -4.0 1
+ AT876 M NN 50 70 1 ||e AQOTE o KJ
» K9643 » T2 sDxs-3 500 -12.0 1 ||a QT » KJ865
* ¢V AN SAST * sV AN AKS3
N ~3~14 9632 N ~~~~~ v J9732
S ~3~14 ¢KQd3 S ~~~~~ o 842
E ~~~~-~ #Q5 E 54~44 aA9
~~~~~ W 54~54
# 13 & KT752 A Mean: 2SN3 140 7.0 1 # 14 & AKJ86 A Mean: 5HXE-2 300 8.0 1
v A982 A 150 2HS2 110 6.0 1 v 3 A -30 S5HXE-1 100 4.0 1
o KJ Dif: 0 NS:0 3NS-1 -100 2.0 1 ¢ QT8 Dif: 0 NS:0 4HE-1 50 2.0 1
& 65 IMP:0 EwW:0 A 0.0 4 & AKJ2 IMP:0 EwW:0 A 0.0 4
A 98 N & QJ43 4SN-2 -200 -2.0 1 4 QT54 A 93 5CS-1 -50 -1.0 2
v T3 v KJ54 3NS-2 -200 -2.0 1 v K542 v AQ9876 5CXS-1 -100 20 2
+ AT987 + + Q53 aNS3 300 40 1 ||e 7632 + AK54 4HE5 450 90 1
& QJ43 & T9 3NN-3 300 40 1 ||a9 &6
P ¢VABDN 4AC 3NS-4 -400 -6.0 1 P OVABN 4,72
N 2~331 ¢Q76 N 4~~3~ 9J7
S 2~331 ¢642 S 4~~3~ ¢J9
E ~1~~~ aAK872 E ~23~~ aQT87543
~1 o~~~ W ~23~-~
# 15 & A987652 A Mean: 5CXE-1 100 6.0 1 # 16 & AT72 A Mean: 5CXW-4 1100 13.0 1
v J85 A 150 2SN2 110 6.0 1 v AKQ98 A 290 4HXN4 590 7.0 1
o KJ Dif: 0 NS:0 5DW-1 50 5.0 2 ¢ 9874 Dif: 0 NS:0 4HN5 450 4.0 1
29 IMP:0 EwW:0 A 0.0 4 » IMP:0 EwW:0 A 0.0 4
& K4 » 4SN-2 -200 -2.0 1 4 Q5 & KJ983 2HS3 140 -4.0 1
v Q43 v K76 w3 400 60 1 ||v 62 — v J75 3cw-1 100 50 1
¢ A986 ¢ T432 3NW4 -430 -7.0 1 + KQ6532 * 2HS2 110 -5.0 1
» K64 & AQT873 5SXN-2 500 80 1 ||a KI5 & A7432 NS4 50 80 1
P ¢VADN 4QT3 +¢VADN o064 4HN-2 -100 -9.0 1
N ~~~3~ yAT92 N ~12~1 vT43
S ~~~3~ ¢Q75 S ~12~1 ¢ AT
E 44~~2 al52 E 1~~1~ aQJoss
33~~02 W 1~~1-~
# 17 & AT432 A Mean: 5HXW-3 500 11.0 1 # 18 » Q A Mean: 5DXS5 750 120 2
v 84 A -30 4SN4 420 100 1 v T976 A 110 5DS5 600 10,0 1
¢ J2 Dif: 0 NS:0 5CXW-1 100 4.0 1 ¢ T954 Dif: 0 NS:0 4DS4 130 1.0 1
& QJ86 IMP:0 EwW:0 A 0.0 4 & 1983 IMP:0 EwW:0 A 0.0 4
aJ & 9875 5DS-1 -50 -1.0 1 & K532 & AJ964 4HXW-1 100 0.0 1
v AKT763 v Q9 3HW4 -170 -4.0 1 v AK84 I v QJ52 5DS-1 -100 -5.0 1
¢ 3 ¢ QT7 3NN-4 -200 -5.0 1 ¢ 6 ¢ J82 5SXES5 -650 -13.0 1
& A9543 & KT72 4SXS-2 -300 -7.0 1 & 7652 aJ 4SXE5 -690 -13.0 1
P VBN 4 KQ6 5CXW5 -550 -11.0 1 ¢ VABN 4, T87
N ~4~3~ 9J52 N 34~~~ 93
S ~4 ~ 3~ ¢AK98654 S 34~~~ ¢ AKQT3
E 4~3~~a E ~~35~ &AKQ4
4~3~-~ W ~~35-~
# 19 aT9 A Mean: 1NE-1 100 5.0 1 # 20 a4 A Mean: 6HW-1 100 13.0 1
v Q653 A -110 1NW1 -90 1.0 1 v 742 A -660 5SW-1 100 13.0 1
¢ AJ42 Dif: 0 NS:0 1NE1 -90 1.0 1 ¢ QT43 Dif: 0 NS:0 A 0.0 4
& 143 IMP:0 EwW:0 A 0.0 4 & 19765 IMP: 0 EW:0 5HW5 -650 0.0 1
& JB6 & KQ43 1NW2 -120 0.0 3 & A8762 & KT9 4SE5 -650 0.0 1
v AK7 v JT42 1NE3 -150 -1.0 1 v AQJT98 + v K65 5HW6 -680 -1.0 1
¢ T9763 + K 2CXN-2 -300 -5.0 1 2 ¢ J9 4HW6 -680 -1.0 1
& KQ & J876 & 8 & AKQ43 6HW6 -1430 -13.0 2
*+VAN sAIDS %4V AN 2 Q53
N ~1~~~ 998 N ~~~~~ 3
S ~ 1~~~ ¢Q85 S ~~~~~ + AK8765
E ~~111 &A952 E ~~541 aJ
~~211 W ~~54 1




¥ l\ ——
2 110£E<§ 2RBERF IR = R2 2
PAN 3z 5
#1: 4 %EPF(SI 4) #2: 6 aEréPiﬂb(SO) #3: 7 Bg IR F(26)
6 INS: HEES BisknsR(EAC) 12 2 S: Z2HE M1 (BAO) 20 10.00 : 10.00| Total VP: 30.00 Rank:
EW: {a/ 528 #E3(50) 20 EW: B &R Z(BAC) 1 IMP:| 37 37 2
_ __
# 11 4 Q52 3NS4 -430 Mean: 4HXW-4 800 1.0 1 # 12 » Q54 3NE5 460 Mean: 3NE-1 50 8.0 2
v A87 4HXW-4 -800 240 3NS4 430 5.0 1 v KT6 3NE3 400 -310 A 0.0 4
¢ J952 Dif: 370 NS:11 3NN4 430 5.0 2 ¢ T53 Dif: 60 NS:-3 3NE4 -430 3.0 2
& AJ7 IMP: 9 EW:-5 3NN3 400 4.0 1 & 7432 IMP: 2 EW:4 3NE3 -400 3.0 2
a4 # KT863 A 0.0 4 a T97 & AJ62 3NW5 -460 40 1
v %4 v KQJTS 3HW-1 50 -5.0 1 v Q84 I v A5 3NES5 -460 40 1
+ AT876 . 3NN-1 50 7.0 1 |]|e AQI76 * KJ
» K9643 » T82 5DXS-3  -500 -12.0 1 QT » KJ865
f e VAN A % ¢ VAN ,KS3
N ~3~14 ¢632 N ~~~~~ v J9732
S ~3~14 ¢Ka43 S ~~~~~ ¢ 842
E ~~~~~ & Q5 E 54~44 aA9
~~~~~ W 54~54
# 13 » KT752 3NS-1 100 Mean: 2SN3 140 7.0 1 # 14 & AKJ86 5HXE-2 -300 Mean: 5HXE-2 300 8.0 1
v A982 3NN-3 300 -150 2HS2 110 6.0 1 v3 5HXE-1 -100 -30 S5HXE-1 100 4.0 1
o KJ Dif: -200 NS:-4 3NS-1 -100 2.0 1 ¢ QT8 Dif: -200 NS:4 4HE-1 50 2.0 1
& 65 IMP: -5 EW:-2 A 0.0 4 & AKJ2 IMP: -5 EW:-8 A 0.0 4
s 98 [\ & QJ43 4SN-2 -200 -2.0 1 & QT54 a 93 5CS-1 -50 1.0 2
v T3 v KJ54 3NS-2 -200 -2.0 1 v K542 v AQ9876 5CXS-1 -100 20 2
+ AT987 + + Q53 aNS3 300 40 1 ||e 7632 + AK54 4HE5 450 90 1
& QJ43 & T9 3NN-3 300 40 1 ||a9 &6
POV ADN 4,A6 3NS-4 -400 -6.0 1 P OVABN 4,72
N 2~331 ¢Q76 N 4~~3~ oJT
S 2~331 ¢642 S 4~~3~ ¢J9
E ~1~~~ &AK872 E ~23~~ &QT87543
~1~~~ W ~23~~
# 15 » A987652 5DW-1-50 Mean: 5CXE-1 100 60 1 [|# 16 » AT72 5CXW-4 -1100 Mean: 5CXW-4 1100 13.0 1
v J85 5CXE-1 -100 -150 2SN2 110 6.0 1 v AKQ98 2HS2 -110 290 4HXN4 590 7.0 1
o KJ Dif: 50 NS:6 5DW-1 50 5.0 2 ¢ 9874 Dif: -990 NS:-5 4HN5 450 4.0 1
29 IMP: 2 EW:-5 A 0.0 4 » IMP: -14 EW:-13 A 0.0 4
& KJ4 » 4SN-2 -200 -2.0 1 4 Q5 & KJ983 2HS3 140 40 1
v Q43 v K76 3NW3 400  -6.0 1 ||w 62 — v J75 3CW-1 100 50 1
+ A986 ¢ T432 3NW4 -430 -7.0 1 + KQ6532 * 2HS2 110 5.0 1
» K64 & AQT873 5SXN-2 500 -80 1 ||a& KT5 a A7432 3NS-1 50 -8.0 1
POV ABDN 4QT3 FOVABN 4,064 4HN-2 -100 90 1
N ~~~3~ 9AT92 N ~12~1 ¢T43
S ~~~3~ Q75 S ~12~1 ¢ AT
E 44~~2 &J52 E 1~~1~ aQJ986
33~~2 W 1~~1~
# 17 » AT432 4SXS-2 300 Mean: 5HXW-3 500 1.0 1 # 18 s Q 4HXW-1 -100 Mean: 5DXS5 750 120 2
v 84 5DS-150 -30 4SN4 420 100 1 v T976 5DXS5 -750 110 5DS5 600 100 1
¢ J2 Dif: 250 NS:-1  5CXW-1 100 4.0 1 ¢ T954 Dif: 650 NS:12 4DS4 130 1.0 1
& QJ86 IMP: 6 EW:7 A 0.0 4 & T983 IMP: 12 EW:-0 A 0.0 4
aJ # 9875 5DS-1 -50 -1.0 1 & K532 & AJ964 4HXW-1 100 0.0 1
v AKT763 v Q9 3HW4 -170 -4.0 1 v AK84 I v QJ52 5DS-1 -100 5.0 1
+3 ¢ QT7 3NN-4 -200 -5.0 1 ¢+ 6 ¢ J82 5SXES5 -650 -13.0 1
& A9543 & KT72 4SXS-2 -300 -7.0 1 & 7652 aJ 4SXE5 -690 -13.0 1
P ¢V BN 4KQ6 5CXW5 -550 -11.0 1 POV ABDN 4, T87
N ~4~3~ ¢J52 N 34~~~ 3
S ~ 4 ~ 3 ~ ¢ AK98654 S 34~~~ ¢ AKQ73
E 4~3~~ & E ~~35~ aAKQ4
4 ~3 ~~ W ~~35~
# 19 aT9 1NE3 150 Mean: 1NE-1 100 50 1 |[|# 20 a4 5HW6 680 Mean: 6HW-1 100 130 1
v Q653 1NE-1 -100 -110 1NWA1 -90 1.0 1 v 742 6HWG6 1430 -660 5SW-1 100 130 1
¢ AJ42 Dif: 250 NS:5 1NE1 -90 1.0 1 ¢ QT43 Dif: -750 NS:-13 A 0.0 4
& 143 IMP: 6 EW:1 A 0.0 4 & 19765 IMP: -13 EW:1 5HW5 -650 0.0 1
# J86 & KQ43 1NW2 -120 0.0 3 & A8762 # KT9 4SE5 -650 0.0 1
v AK7 v JT42 1NE3 -150 -1.0 1 v AQJT98 + v K65 5HW6 -680 1.0 1
¢ T9763 * K 2CXN-2 -300 -5.0 1 2 + J9 4HW6 -680 1.0 1
& KQ & J876 &8 & AKQ43 6HW6 -1430 -13.0 2
f ¢ VAN 4A752 % ¢ VAN 4 Q53
N ~1~~~ 998 N ~~~~~ 3
S ~1~~~ Q85 S ~~~~~ + AK8765
E ~~111 &A92 E ~~541 alJ
~~211 W ~~541




¥ l\ ——
2 1102 F<F 2RABpERFIRE ==> R 2
AN iz 5
#1: 4 %EPF(SI 4)#2: 6 aEréPiﬂb(SO) #3 7 BRI TE(26)
7 NS: #FinsE HREEIC) 4 1 S: 1525 L£FZ(FO0) -52 20.00 : 0.00 Total VP: 26.00 Rank:
EW: HRiE2E 25A{=(5H0) 52 EW: &30& SEBUR(FC) -4 IMP:| 57 4 3
__ .
# 11 » Q52 3HW-1-50 Mean: 4HXW-4 800 11.0 1 |[|# 12 a Q54 3NE3 400 Mean: 3NE-1 50 80 2
v A87 3NN4 -430 240  3NS4 430 50 1 v KT6 3NE-1-50 -310 A 00 4
¢ J952 Dif: 380 NS:5 3NN4 430 50 2 ¢ T53 Dif: 450 NS:8 3NE4 430 3.0 2
& AJ7 IMP: 9 EW:5 3NN3 400 40 1 a 7432 IMP: 10 EW:3 3NE3 400 3.0 2
a4 #» KT863 A 00 4 ||aT97 & AJG2 3NW5 460 40 1
v 94 v KQJT5 3HW-1 50 50 1 ||v Q84 | v A5 3NE5 460 40 1
+ AT876 * 3NN-1 -50 7.0 1 + AQ976 * KJ
& K9643 & T82 5DXS-3 -500 -12.0 1 QT & KJ865
B¢V AN A7 B+ e VAN ,K83
N ~3~14 ¢632 N ~~~~~ v J9732
S ~3~14 ¢KQ43 S ~~~~~ ¢ 842
E ~~~~~ & Q5 E 54~44 aA9
~~~~~ W 54~54
# 13  KT752 4SN-2 200 Mean: 2SN3 140 7.0 1 |[|# 14 » AKJB6 5CS-150 Mean: 5HXE-2 300 80 1
v A982 3NS-3300 -150 2HS2 110 6.0 1 v 3 5CS-150 -30  5HXE-1 100 40 1
* KJ Dif: -100 NS:-4 3NS-1 100 20 1 ¢ QT8 Dif: 0 NS:-1 4HE-1 50 20 1
& 65 IMP: -3 EW:2 A 00 4 & AKJ2 IMP: 0 EW:1 A 00 4
s 98 N & QU43 4SN-2 200 20 1 ||s QT54 a 93 5CS-1 50 1.0 2
v T3 v KJ54 3NS-2 200 2.0 1 || K542 v AQ9876 5CXS-1 100 20 2
+ ATO87 + + Q53 NS-3 300 40 1 ||e 7632 + AK54 4HE5S 450 90 1
& QJ43 & T9 3NN-3 300 40 1 ||a9 a6
F VAN A6 3NS-4 400 6.0 1 FOVAN o 72
N 2~331 «Q76 N 4~~3~ oJT
S 2~331 642 S 4~~3~ ¢J9
E ~1~~~ &AK872 E ~23~~ & QT87543
~1~~~ W ~23~~
# 15 & A987652 5SXN-2 500 Mean: 5CXE-1 100 6.0 1 |[|# 16 a AT72 4HN-2 100 Mean: 5CXW-4 1100 13.0 1
v J85 5DW-1-50 -150 2SN2 110 6.0 1 v AKQ98 2HS3 -140 290  4HXN4 50 7.0 1
* KJ Dif: 550 NS:5 5DW-1 50 50 2 ¢ 9874 Dif: 240 NS:-4 4HN5 450 4.0 1
&9 IMP: 11 EW:8 A 00 4 » IMP: 6 EW:9 A 00 4
a KJ4 'S 4SN-2 200 20 1 ||a Q5 » KJ983 2HS3 140 40 1
v Q43 v K76 3NW3 400 6.0 1 [|e 62 —_— v J75 3CW-1 100 -50 1
+ A986 ¢ T432 3NW4 430 7.0 1 |]|e KQ6532 . 2HS2 110 50 1
& K64 & AQT873 5SXN-2 -500 8.0 1 ||& KT5 & A7432 3NS-1 -50 -8.0 1
* ¢V AN ,QT3 FOVAN o064 4HN-2 100 9.0 1
N ~~~3~ 9AT92 N ~12~1 ¢ T43
S ~~~3~ ¢Q75 S ~12~1 ¢ AT
E 44~~2 &J52 E 1~~1~ aQJ986
33~~2 W 1~~1~
# 17 o AT432 5CXW5 550 Mean: 5HXW-3 500 11.0 1 ||# 18 s Q 5SXE5 650 Mean: 5DXS5 750 120 2
v 84 3NN-4 200 -30  4SN4 420 100 1 v T976 4SXE5690 110 5DS5 600 10.0 1
¢ J2 Dif: 350 NS:-5 5CXW-1 100 40 1 ¢ T954 Dif: -40 NS:-13 4DS4 130 1.0 1
& QJB6 IMP: 8 EW:11 A 00 4 & T983 IMP: -1 EW:13 A 00 4
aJ # 9875 5DS-1 50 1.0 1 []|ae K532 #» AJ964 4HXW-1 100 00 1
v AKT763 v Q9 3HW4 170 4.0 1 ||e AK84 | v QJ52 5DS-1 100 -50 1
*3 ¢ QT7 3NN-4 200 50 1||e6 ¢ J82 5SXE5 650 -13.0 1
a A9543 a KT72 4SXS-2 2300 7.0 1 ||a 7652 aJ 4SXE5 690 -13.0 1
% ¢V AN ,KQE 5CXW5 550 110 1 * e VAN oT87
N ~4~3~ 9J52 N 34~~~ 3
S ~ 4 ~ 3 ~ ¢ AK98654 S 34~~~ ¢ AKQ73
E 4~3~~a E ~~35~ aAKQ4
4 ~3 ~~ W ~~35~
# 19 aT9 1NW2 120 Mean: 1NE-1 100 50 1 |[|# 20 a4 5HW5 650 Mean: 6HW-1 100 130 1
v Q653 1NW2 120 -110  1NWA -90 10 1 v 742 5SW-1-100 -660 5SW-1 100 130 1
o AJ42 Dif: 0 NS:-0 1NE1 -90 10 1 ¢ QT43 Dif: 750 NS:13 A 00 4
& T43 IMP: 0 EW:-0 A 00 4 & T9765 IMP: 13 EW:-0 5HWS5 650 0.0 1
# J86 #» KQ43 1NW2 120 0.0 3 ||a A8762 » KT9 4SE5 650 0.0 1
v AK7 v JT42 1NE3 150 1.0 1 ||e AQJT98 + v K65 5HW6 680 -1.0 1
¢ T9763 * K 2CXN-2 300 50 1 ||e2 * J9 4HW6 680 -1.0 1
a KQ  J876 &8 » AKQ43 6HW6 1430 130 2
B¢V AN ,A752 *eVAN 4, Q53
N ~1~~~ 99 N ~~~~~ 3
S ~1~~~ ¢Q85 S ~~~~~ + AK8765
E ~~111 &A952 E~~541 al
~~211 W ~~541




¥ l\ ——
2 1102 F<F 2RABpERFIRE ==> R 2
AN :z:
#1: 4 EFHEGL) #2: 6 aEréPiﬂb(SO) #3: 7 B SR8 5a(26)
8 INS: ¥R 258H2E(BAC) -19 4 NS: BEREA R (FO) 26| 0.78 19.22| Total VP: 14.78 Rank:
EW: BhEk 5R{-{E(EH0) -26 EW: R{_5% BII#(FC) 1 IMP:| 10 50 9
__ .
# 11 4 Q52 3NN3 -400 Mean: 4HXW-4 800 110 1 |[|# 12 a Q54 3NE4 430 Mean: 3NE-1 50 80 2
v A87 3NN-150 240 3NS4 430 50 1 v KT6 3NW5460 -310 A 00 4
¢ J952 Dif: -450 NS:-7 3NN4 430 50 2 ¢ T53 Dif: -30 NS:-4 3NE4 430 3.0 2
& AJ7 IMP: -10 EW:-4 3NN3 400 40 1 a 7432 IMP: -1 EW:3 3NE3 400 3.0 2
a4 #» KT863 A 00 4 ||aT97 & AJG2 3NW5 -460 40 1
v 94 v KQJT5 3HW-1 50 50 1 ||v Q84 | v A5 3NE5 460 40 1
+ AT876 * 3NN-1 -50 7.0 1 + AQ976 * KJ
& K9643 & T82 5DXS-3 -500 -12.0 1 QT & KJ865
B¢V AN A7 B+ e VAN ,K83
N ~3~14 ¢632 N ~~~~~ v J9732
S ~3~14 ¢KQ43 S ~~~~~ ¢ 842
E ~~~~~ & Q5 E 54~44 aA9
~~~~~ W 54~54
# 13 & KT752 2SN3 -140 Mean: 2SN3 140 70 1 |[|# 14 » AKJ86 4HE-1 -50 Mean: 5HXE-2 300 80 1
v A982 2HS2 -110 -150 2HS2 110 6.0 1 v3 4HE5450 -30  5HXE-1 100 40 1
* KJ Dif: -30 NS:6  3NS-1 100 20 1 ¢ QT8 Dif: -500 NS:-9 4HE-1 50 20 1
& 65 IMP: -1 EW:-7 A 00 4 & AKJ2 IMP: -11 EW:2 A 00 4
s 98 N a QJ43 4SN-2 200 20 1 ||s QT54 s 93 5CS-1 50 1.0 2
v T3 v KJ54 3NS-2 200 2.0 1 || K542 v AQ9876 5CXS-1 100 20 2
+ ATO87 + + Q53 NS-3 300 40 1 ||e 7632 + AK54 4HE5S 450 90 1
& QJ43 & T9 3NN-3 300 40 1 ||a9 a6
F VAN A6 3NS-4 400 6.0 1 FOVAN o 72
N 2~331 «Q76 N 4~~3~ oJT
S 2~331 642 S 4~~3~ ¢J9
E ~1~~~ &AK872 E ~23~~ & QT87543
~1~~~ W ~23~~
# 15 & A987652 2SN2 -110 Mean: 5CXE-1 100 6.0 1 |[|# 16 a AT72 4HN5 -450 Mean: 5CXW-4 1100 13.0 1
v J85 3NW3 400 -150 2SN2 110 6.0 1 v AKQ98 3CW-1-100 290  4HXN4 50 7.0 1
* KJ Dif: -510 NS:-6 5DW-1 50 50 2 ¢ 9874 Dif: -350 NS:-5 4HN5 450 4.0 1
&9 IMP: 11 EW:-6 A 00 4 » IMP: -8 EW:-4 A 00 4
s KJ4 'y 4SN-2 200 20 1 ||a Q5 » KJ983 2HS3 140 40 1
v Q43 v K76 3NW3 400 6.0 1 [|e 62 —_— v J75 3CW-1 100 -50 1
+ A986 ¢ T432 3NW4 430 7.0 1 |]|e KQ6532 . 2HS2 110 50 1
& K64 & AQT873 5SXN-2 -500 8.0 1 ||& KT5 & A7432 3NS-1 -50 -8.0 1
*eVAN ,QT3 FOVAN o064 4HN-2 100 9.0 1
N ~~~3~ 9AT92 N ~12~1 ¢ T43
S ~~~3~ ¢Q75 S ~12~1 ¢ AT
E 44~~2 &J52 E 1~~1~ aQJ986
33~~2 W 1~~1~
# 17 o AT432 5CXW-1-100 Mean: 5HXW-3 500 11.0 1 ||# 18 s Q 4DS4 -130 Mean: 5DXS5 750 120 2
v 84 3HW4 170 -30  4SN4 420 100 1 v T976 5DS5-600 110  5DS5 600 10.0 1
¢ J2 Dif: -270 NS:-4 5CXW-1 100 40 1 ¢ T954 Dif: 470 NS:10 4DS4 130 1.0 1
& QJB6 IMP: -7 EW:-4 A 00 4 & T983 IMP: 10 EW:-1 A 00 4
aJ # 9875 5DS-1 50 1.0 1 []|ae K532 & AJ964 4HXW-1 100 00 1
v AKT763 v Q9 3HW4 170 4.0 1 ||e AK84 | v QJ52 5DS-1 100 -50 1
*3 ¢ QT7 3NN-4 200 50 1||e6 ¢ J82 5SXE5 650 -13.0 1
& A9543 a KT72 4SXS-2 2300 7.0 1 ||a 7652 aJ 4SXE5 690 -13.0 1
% ¢V AN ,KQE 5CXW5 550 110 1 * e VAN oT87
N ~4~3~ 9J52 N 34~~~ 3
S ~ 4 ~ 3 ~ ¢ AK98654 S 34~~~ ¢ AKQ73
E 4~3~~ & E ~~35~ aAKQ4
4 ~3 ~~ W ~~35~
# 19 aT9 1NE1 90 Mean: 1NE-1 100 50 1 |[|# 20 a4 4SE5 650 Mean: 6HW-1 100 130 1
v Q653 1NW1 90 -110  1NW1 -90 10 1 v 742 4HW6 680 -660 5SW-1 100 130 1
o AJ42 Dif: 0 NS:1 1NE1 -90 10 1 ¢ QT43 Dif: -30 Ns:-1 A 00 4
& T43 IMP: 0 EW:-1 A 00 4 & T9765 IMP: -1 EW:-0 5HWS5 650 0.0 1
#~ J86 & KQ43 1NW2 120 0.0 3 || A8762 & KT9 4SE5 650 0.0 1
v AK7 v JT42 1NE3 150 1.0 1 |[|e AQJT98 + v K65 5HW6 680 -1.0 1
¢ T9763 * K 2CXN-2 300 50 1 ||e2 * J9 4HW6 680 -1.0 1
a KQ  J876 &8 » AKQ43 6HW6 1430 130 2
B¢V AN ,A752 *eVAN 4, Q53
N ~1~~~ 99 N ~~~~~ 3
S ~1~~~ ¢Q85 S ~~~~~ + AK8765
E ~~111 &A952 E~~541 al
~~211 W ~~541




¥ l\ ——
2 110£E<§ 2RBERF IR = R2 2
PAN 3z 5
#1: 4 BEETE0G14 #2: 6 aEréPiﬂb(SO) #3: 7 Bg IR F(26)
9 NS: BEE45 SEMERIEAC) -17 3 NS: IB{EH #FEH(FIO) 16 3.61 : 16.39| Total VP: 15.61 Rank:
EW: Bé% T TEMGH0) -16 EW: ZREI8 BI3K(HIC) 17] IMP:| 31 53 8
_ __
# 11 4 Q52 3NN4 -430 Mean: 4HXW-4 800 1.0 1 # 12 » Q54 3NE4 430 Mean: 3NE-1 50 8.0 2
v A87 5DXS-3 500 240 3NS4 430 5.0 1 v KT6 3NE-1-50 -310 A 0.0 4
¢ J952 Dif: -930 NS:-12 3NN4 430 5.0 2 ¢ T53 Dif: 480 NS:8 3NE4 -430 3.0 2
& AJ7 IMP: -14 EW:-5 3NN3 400 4.0 1 & 7432 IMP: 10 EW:3 3NE3 -400 3.0 2
a4 # KT863 A 0.0 4 a T97 & AJ62 3NW5 -460 40 1
v %4 v KQJTS 3HW-1 50 -5.0 1 v Q84 I v A5 3NES5 -460 40 1
+ AT876 . 3NN-1 50 7.0 1 [|e AQ976 * KJ
» K9643 » T82 5DXS-3  -500 -12.0 1 QT » KJ865
f e VAN A % ¢ VAN ,KS3
N ~3~14 ¢632 N ~~~~~ v J9732
S ~3~14 ¢Ka43 S ~~~~~ ¢ 842
E ~~~~~ & Q5 E 54~44 aA9
~~~~~ W 54~54
# 13 » KT752 3NS-2 200 Mean: 2SN3 140 7.0 1 # 14 & AKJ86 5CXS-1 100 Mean: 5HXE-2 300 8.0 1
v A982 3NS-4 400 -150 2HS2 110 6.0 1 v3 5CXS-1 100 -30 S5HXE-1 100 4.0 1
o KJ Dif: -200 NS:-6 3NS-1 -100 2.0 1 ¢ QT8 Dif: 0 NS:-2 4HE-1 50 2.0 1
& 65 IMP: -5 EW:2 A 0.0 4 & AKJ2 IMP: 0 EW:2 A 0.0 4
s 98 [\ & QJ43 4SN-2 -200 -2.0 1 & QT54 a 93 5CS-1 -50 1.0 2
v T3 v KJ54 3NS-2 -200 -2.0 1 v K542 v AQ9876 5CXS-1 -100 20 2
+ AT987 + + Q53 aNS3 300 40 1 ||e 7632 + AK54 4HE5 450 90 1
& QJ43 & T9 3NN-3 300 40 1 ||a9 &6
POV ADN 4,A6 3NS-4 -400 -6.0 1 P OVABN 4,72
N 2~331 ¢Q76 N 4~~3~ oJT
S 2~331 ¢642 S 4~~3~ ¢J9
E ~1~~~ &AK872 E ~23~~ &QT87543
~1~~~ W ~23~~
# 15 » A987652 3NW4 430 Mean: 5CXE-1 100 60 1 [|# 16 » AT72 4HXN4 -590 Mean: 5CXW-4 1100 13.0 1
v J85 4SN-2 200 -150 2SN2 110 6.0 1 v AKQ98 3NS-150 290 4HXN4 590 7.0 1
o KJ Dif: 230 NS:-2 5DW-1 50 5.0 2 ¢ 9874 Dif: -640 NS:-8 4HN5 450 4.0 1
29 IMP: 6 EW:7 A 0.0 4 » IMP: -12 EW:-7 A 0.0 4
o KJ4 » 4SN-2 -200 -2.0 1 4 Q5 & KJ983 2HS3 140 40 1
v Q43 v K76 3NW3 400  -6.0 1 ||w 62 — v J75 3CW-1 100 50 1
+ A986 ¢ T432 3NW4 -430 -7.0 1 + KQ6532 * 2HS2 110 5.0 1
» K64 & AQT873 5SXN-2 500 -8.0 1 ||a& KT5 a A7432 3NS-1 50 -8.0 1
POV ABDN 4QT3 FOVABN 4,064 4HN-2 -100 90 1
N ~~~3~ 9AT92 N ~12~1 ¢T43
S ~~~3~ Q75 S ~12~1 AT
E 44~~2 8J52 E 1~~1~ aQJ986
33~~2 W 1~~1~
# 17 » AT432 4SN4 -420 Mean: 5HXW-3 500 1.0 1 # 18 s Q 5DS-1 100 Mean: 5DXS5 750 120 2
v 84 5HXW-3 -500 -30 4SN4 420 100 1 v T976 5DXS5 -750 110 5DS5 600 100 1
¢ J2 Dif: 80 NS:11 5CXW-1 100 4.0 1 ¢ T954 Dif: 850 NS:12 4DS4 130 1.0 1
& QJ86 IMP: 2 Ew:-10 A 0.0 4 & T983 IMP: 13 EW:5 A 0.0 4
aJ # 9875 5DS-1 -50 -1.0 1 & K532 & AJ964 4HXW-1 100 0.0 1
v AKT763 v Q9 3HW4 -170 -4.0 1 v AK84 I v QJ52 5DS-1 -100 5.0 1
+3 ¢ QT7 3NN-4 -200 -5.0 1 ¢+ 6 ¢ J82 5SXES5 -650 -13.0 1
& A9543 & KT72 4SXS-2 -300 -7.0 1 & 7652 aJ 4SXE5 -690 -13.0 1
P ¢V BN 4KQ6 5CXW5 -550 -11.0 1 POV ABDN 4, T87
N ~4~3~ ¢J52 N 34~~~ @3
S ~ 4 ~ 3 ~ ¢ AK98654 S 34~~~ o AKQ73
E 4~3~~a& E ~~35~ &AKQ4
4 ~3 ~~ W ~~35~
# 19 aT9 1NW2 120 Mean: 1NE-1 100 50 1 |[|# 20 a4 6HW-1-100 Mean: 6HW-1 100 130 1
v Q653 2CXN-2 300 -110 1NWA1 -90 1.0 1 v 742 6HWG6 1430 -660 5SW-1 100 130 1
¢ AJ42 Dif: -180 NS:-5 1NE1 -90 1.0 1 ¢ QT43 Dif: -1530 NS:-13 A 0.0 4
& 143 IMP: -5 EW:-0 A 0.0 4 & 19765 IMP: -17 EW:-13 5HW5 -650 0.0 1
# J86 & KQ43 1NW2 -120 0.0 3 & A8762 & KT9 4SE5 -650 0.0 1
v AK7 v JT42 1NE3 -150 -1.0 1 v AQJT98 + v K65 5HW6 -680 1.0 1
¢ T9763 * K 2CXN-2 -300 -5.0 1 2 + J9 4HW6 -680 1.0 1
& KQ & J876 &8 & AKQ43 6HW6 -1430 -13.0 2
f ¢ VAN 4A752 % ¢ VAN 4 Q53
N ~1~~~ 998 N ~~~~~ 3
S ~1~~~ Q85 S ~~~~~ + AK8765
E ~~111 &A92 E ~~541 alJ
~~211 W ~~541
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#1: 4 EFEFEGLA) #2: 6 X 445(30) #3: 7 B EEIE5(26)
1 O INS: (BHC) 0 5 NS: (FA0)0 VP:| 0.00 12.00| Total VP: 20.00 Rank:
EW: (B0)0 EW: (BIC) 0 IMP:| 0 : o 12
_
# 11 & Q52 A Mean: 4HXW-4 800 11.0 1 # 12 » Q54 A Mean: 3NE-1 50 8.0 2
v A87 A 240 3NS4 430 5.0 1 v KT6 A -310 A 0.0 4
¢ J952 Dif: 0 NS:-0 3NN4 430 5.0 2 ¢ T53 Dif: 0 NS:-0 3NE4 -430 3.0 2
& AJ7 IMP: 0 EW:-0 3NN3 400 4.0 1 & 7432 IMP: 0 EW:-0 3NE3 -400 3.0 2
a4 & KT863 A 0.0 4 a T97 & AJ62 3NW5 -460 -4.0 1
v 94 v KQJT5 3HW-1 50 -5.0 1 v Q84 I v A5 3NES5 -460 -4.0 1
+ AT876 M NN 50 70 1 ||e AQOTE o KJ
» K9643 » T2 sDxs-3 500 -12.0 1 ||a QT » KJ865
* ¢V AN SAST * sV AN AKS3
N ~3~14 9632 N ~~~~~ v J9732
S ~3~14 ¢KQd3 S ~~~~~ o 842
E ~~~~-~ #Q5 E 54~44 aA9
~~~~~ W 54~54
# 13 & KT752 A Mean: 2SN3 140 7.0 1 # 14 & AKJ86 A Mean: 5HXE-2 300 8.0 1
v A982 A 150 2HS2 110 6.0 1 v 3 A -30 S5HXE-1 100 4.0 1
o KJ Dif: 0 NS:-0 3NS-1 -100 2.0 1 ¢ QT8 Dif: 0 NS:-0 4HE-1 50 2.0 1
& 65 IMP: 0 EW:-0 A 0.0 4 & AKJ2 IMP: 0 EW:-0 A 0.0 4
A 98 N & QJ43 4SN-2 -200 -2.0 1 4 QT54 A 93 5CS-1 -50 -1.0 2
v T3 v KJ54 3NS-2 -200 -2.0 1 v K542 v AQ9876 5CXS-1 -100 20 2
+ AT987 + + Q53 aNS3 300 40 1 ||e 7632 + AK54 4HE5 450 90 1
& QJ43 & T9 3NN-3 300 40 1 ||a9 &6
P ¢VABDN 4AC 3NS-4 -400 -6.0 1 P OVABN 4,72
N 2~331 ¢Q76 N 4~~3~ 9J7
S 2~331 ¢642 S 4~~3~ ¢J9
E ~1~~~ aAK872 E ~23~~ aQT87543
~1 o~~~ W ~23~-~
# 15 & A987652 A Mean: 5CXE-1 100 6.0 1 # 16 & AT72 A Mean: 5CXW-4 1100 13.0 1
v J85 A 150 2SN2 110 6.0 1 v AKQ98 A 290 4HXN4 590 7.0 1
o KJ Dif: 0 NS:-0 5DW-1 50 5.0 2 ¢ 9874 Dif: 0 NS:-0 4HN5 450 4.0 1
29 IMP: 0 EW:-0 A 0.0 4 » IMP:0 EwW:-0 A 0.0 4
& K4 » 4SN-2 -200 -2.0 1 4 Q5 & KJ983 2HS3 140 -4.0 1
v Q43 v K76 w3 400 60 1 ||v 62 — v J75 3cw-1 100 50 1
¢ A986 ¢ T432 3NW4 -430 -7.0 1 + KQ6532 * 2HS2 110 -5.0 1
» K64 & AQT873 5SXN-2 500 80 1 ||a KI5 & A7432 NS4 50 80 1
P ¢VADN 4QT3 +¢VADN o064 4HN-2 -100 -9.0 1
N ~~~3~ yAT92 N ~12~1 vT43
S ~~~3~ ¢Q75 S ~12~1 ¢ AT
E 44~~2 al52 E 1~~1~ aQJoss
33~~02 W 1~~1-~
# 17 & AT432 A Mean: 5HXW-3 500 11.0 1 # 18 » Q A Mean: 5DXS5 750 120 2
v 84 A -30 4SN4 420 100 1 v T976 A 110 5DS5 600 10,0 1
¢ J2 Dif: 0 NS:-0 5CXW-1 100 4.0 1 ¢ T954 Dif: 0 NS:-0 4DS4 130 1.0 1
& QJ86 IMP: 0 EW:-0 A 0.0 4 & 1983 IMP: 0 EW:-0 A 0.0 4
aJ & 9875 5DS-1 -50 -1.0 1 & K532 & AJ964 4HXW-1 100 0.0 1
v AKT763 v Q9 3HW4 -170 -4.0 1 v AK84 I v QJ52 5DS-1 -100 -5.0 1
¢ 3 ¢ QT7 3NN-4 -200 -5.0 1 ¢ 6 ¢ J82 5SXES5 -650 -13.0 1
& A9543 & KT72 4SXS-2 -300 -7.0 1 & 7652 aJ 4SXE5 -690 -13.0 1
P VBN 4 KQ6 5CXW5 -550 -11.0 1 ¢ VABN 4, T87
N ~4~3~ 9J52 N 34~~~ 93
S ~4 ~ 3~ ¢AK98654 S 34~~~ ¢ AKQT3
E 4~3~~a E ~~35~ &AKQ4
4~3~-~ W ~~35-~
# 19 aT9 A Mean: 1NE-1 100 5.0 1 # 20 a4 A Mean: 6HW-1 100 13.0 1
v Q653 A -110 1NW1 -90 1.0 1 v 742 A -660 5SW-1 100 13.0 1
¢ AJ42 Dif: 0 NS:-0 1NE1 -90 1.0 1 ¢ QT43 Dif: 0 NS:-0 A 0.0 4
& 143 IMP: 0 EW:-0 A 0.0 4 & 19765 IMP: 0 EW:-0 5HW5 -650 0.0 1
& JB6 & KQ43 1NW2 -120 0.0 3 & A8762 & KT9 4SE5 -650 0.0 1
v AK7 v JT42 1NE3 -150 -1.0 1 v AQJT98 + v K65 5HW6 -680 -1.0 1
¢ T9763 + K 2CXN-2 -300 -5.0 1 2 ¢ J9 4HW6 -680 -1.0 1
& KQ & J876 & 8 & AKQ43 6HW6 -1430 -13.0 2
*+VAN sAIDS %4V AN 2 Q53
N ~1~~~ 998 N ~~~~~ 3
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#1: 4 BEETE0G14 #2: 6 aEréPiﬂb(SO) #3: 7 B SRR TE(26)
1 1 INS: (BHO0) 0 1 2 NS: (FiC) 0 10.00 : 10.00| Total VP: 0.00 Rank:
EW: (FC)0 EW: (B80) 0 IMP:| 0 0 6
# 11 & Q52 A Mean: 4HXW-4 800 11.0 1 # 12 » Q54 A Mean: 3NE-1 50 8.0 2
v A87 A 240 3NS4 430 5.0 1 v KT6 A -310 A 0.0 4
¢ J952 Dif: 0 NS:0 3NN4 430 5.0 2 ¢ T53 Dif: 0 NS:0 3NE4 -430 3.0 2
& AJ7 IMP: 0 EW:0 3NN3 400 4.0 1 & 7432 IMP: 0 EW:0 3NE3 -400 3.0 2
a4 & KT863 A 0.0 4 a T97 & AJ62 3NW5 -460 -4.0 1
v 94 v KQJT5 3HW-1 50 -5.0 1 v Q84 I v A5 3NES5 -460 -4.0 1
+ AT876 M NN 50 70 1 ||e AQOTE o KJ
» K9643 » T2 sDxs-3 500 -12.0 1 ||a QT » KJ865
* ¢V AN SAST * sV AN AKS3
N ~3~14 9632 N ~~~~~ v J9732
S ~3~14 ¢KQd3 S ~~~~~ o 842
E ~~~~-~ #Q5 E 54~44 aA9
~~~~~ W 54~54
# 13 & KT752 A Mean: 2SN3 140 7.0 1 # 14 & AKJ86 A Mean: 5HXE-2 300 8.0 1
v A982 A 150 2HS2 110 6.0 1 v 3 A -30 S5HXE-1 100 4.0 1
o KJ Dif: 0 NS:0 3NS-1 -100 2.0 1 ¢ QT8 Dif: 0 NS:0 4HE-1 50 2.0 1
& 65 IMP:0 EwW:0 A 0.0 4 & AKJ2 IMP:0 EwW:0 A 0.0 4
A 98 N & QJ43 4SN-2 -200 -2.0 1 4 QT54 A 93 5CS-1 -50 -1.0 2
v T3 v KJ54 3NS-2 -200 -2.0 1 v K542 v AQ9876 5CXS-1 -100 20 2
+ AT987 + + Q53 aNS3 300 40 1 ||e 7632 + AK54 4HE5 450 90 1
& QJ43 & T9 3NN-3 300 40 1 ||a9 &6
P ¢VABDN 4AC 3NS-4 -400 -6.0 1 P OVABN 4,72
N 2~331 ¢Q76 N 4~~3~ 9J7
S 2~331 ¢642 S 4~~3~ ¢J9
E ~1~~~ aAK872 E ~23~~ aQT87543
~1 o~~~ W ~23~-~
# 15 & A987652 A Mean: 5CXE-1 100 6.0 1 # 16 & AT72 A Mean: 5CXW-4 1100 13.0 1
v J85 A 150 2SN2 110 6.0 1 v AKQ98 A 290 4HXN4 590 7.0 1
o KJ Dif: 0 NS:0 5DW-1 50 5.0 2 ¢ 9874 Dif: 0 NS:0 4HN5 450 4.0 1
29 IMP:0 EwW:0 A 0.0 4 » IMP:0 EwW:0 A 0.0 4
& K4 » 4SN-2 -200 -2.0 1 4 Q5 & KJ983 2HS3 140 -4.0 1
v Q43 v K76 w3 400 60 1 ||v 62 — v J75 3cw-1 100 50 1
¢ A986 ¢ T432 3NW4 -430 -7.0 1 + KQ6532 * 2HS2 110 -5.0 1
» K64 & AQT873 5SXN-2 500 80 1 ||a KI5 & A7432 NS4 50 80 1
P ¢VADN 4QT3 +¢VADN o064 4HN-2 -100 -9.0 1
N ~~~3~ yAT92 N ~12~1 vT43
S ~~~3~ ¢Q75 S ~12~1 ¢ AT
E 44~~2 al52 E 1~~1~ aQJoss
33~~02 W 1~~1-~
# 17 & AT432 A Mean: 5HXW-3 500 11.0 1 # 18 » Q A Mean: 5DXS5 750 120 2
v 84 A -30 4SN4 420 100 1 v T976 A 110 5DS5 600 10,0 1
¢ J2 Dif: 0 NS:0 5CXW-1 100 4.0 1 ¢ T954 Dif: 0 NS:0 4DS4 130 1.0 1
& QJ86 IMP:0 EwW:0 A 0.0 4 & 1983 IMP:0 EwW:0 A 0.0 4
aJ & 9875 5DS-1 -50 -1.0 1 & K532 & AJ964 4HXW-1 100 0.0 1
v AKT763 v Q9 3HW4 -170 -4.0 1 v AK84 I v QJ52 5DS-1 -100 -5.0 1
¢ 3 ¢ QT7 3NN-4 -200 -5.0 1 ¢ 6 ¢ J82 5SXES5 -650 -13.0 1
& A9543 & KT72 4SXS-2 -300 -7.0 1 & 7652 aJ 4SXE5 -690 -13.0 1
P VBN 4 KQ6 5CXW5 -550 -11.0 1 ¢ VABN 4, T87
N ~4~3~ 9J52 N 34~~~ 93
S ~4 ~ 3~ ¢AK98654 S 34~~~ ¢ AKQT3
E 4~3~~a E ~~35~ &AKQ4
4~3~-~ W ~~35-~
# 19 aT9 A Mean: 1NE-1 100 5.0 1 # 20 a4 A Mean: 6HW-1 100 13.0 1
v Q653 A -110 1NW1 -90 1.0 1 v 742 A -660 5SW-1 100 13.0 1
¢ AJ42 Dif: 0 NS:0 1NE1 -90 1.0 1 ¢ QT43 Dif: 0 NS:0 A 0.0 4
& 143 IMP:0 EwW:0 A 0.0 4 & 19765 IMP: 0 EW:0 5HW5 -650 0.0 1
& JB6 & KQ43 1NW2 -120 0.0 3 & A8762 & KT9 4SE5 -650 0.0 1
v AK7 v JT42 1NE3 -150 -1.0 1 v AQJT98 + v K65 5HW6 -680 -1.0 1
¢ T9763 + K 2CXN-2 -300 -5.0 1 2 ¢ J9 4HW6 -680 -1.0 1
& KQ & J876 & 8 & AKQ43 6HW6 -1430 -13.0 2
*+VAN sAIDS %4V AN 2 Q53
N ~1~~~ 998 N ~~~~~ 3
S ~ 1~~~ ¢Q85 S ~~~~~ + AK8765
E ~~111 &A952 E ~~541 aJ
~~211 W ~~54 1
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#1: 4 EFTE0B1.4 #2: 6 aEréPiﬂb(SO) #3: 7 B SRR TE(26)
1 2 INS: (BHC) 0 11 NS: (F0) 0 10.00 : 10.00| Total VP: 0.00 Rank:
EW: (80)0 EW: (BIC)0 IMP:| 0 0 6
_
# 11 & Q52 A Mean: 4HXW-4 800 11.0 1 # 12 » Q54 A Mean: 3NE-1 50 8.0 2
v A87 A 240 3NS4 430 5.0 1 v KT6 A -310 A 0.0 4
¢ J952 Dif: 0 NS:-0 3NN4 430 5.0 2 ¢ T53 Dif: 0 NS:-0 3NE4 -430 3.0 2
& AJ7 IMP: 0 EW:-0 3NN3 400 4.0 1 & 7432 IMP: 0 EW:-0 3NE3 -400 3.0 2
a4 & KT863 A 0.0 4 a T97 & AJ62 3NW5 -460 -4.0 1
v 94 v KQJT5 3HW-1 50 -5.0 1 v Q84 I v A5 3NES5 -460 -4.0 1
+ AT876 . 3NN-1 50 7.0 1||e AQ976 * KJ
» K9643 aT82 5DXS-3 500 -12.0 1 QT » KJ865
* ¢V AN 5AIT ®+VAN 4 K33
N ~3~14 9632 N ~~~~~ v J9732
S ~3~14 ¢KQ43 S ~~~~-~ » 842
E ~~~~~ & Q5 E 54~44 aA9
~~~~~ W 54~54
# 13 & KT752 A Mean: 2SN3 140 7.0 1 # 14 & AKJ86 A Mean: 5HXE-2 300 8.0 1
v A982 A 150 2HS2 110 6.0 1 v 3 A -30 S5HXE-1 100 4.0 1
o KJ Dif: 0 NS:-0 3NS-1 -100 2.0 1 ¢ QT8 Dif: 0 NS:-0 4HE-1 50 2.0 1
& 65 IMP:0 EwW:-0 A 0.0 4 & AKJ2 IMP:0 EwW:-0 A 0.0 4
a 98 N & QJ43 4SN-2 -200 -2.0 1 4 QT54 a 93 5CS-1 -50 -1.0 2
v T3 v KJ54 3NS-2 -200 -2.0 1 v K542 v AQ9876 5CXS-1 -100 20 2
+ AT987 + + Q53 aNS3 300 40 1 ||e 7632 + AK54 4HE5 450 90 1
& QJ43 & T9 3NN-3 300 40 1 ||a9 &6
P ¢VABDN 4AC 3NS-4 -400 -6.0 1 P OVABN 4,72
N 2~331 ¢Q76 N 4~~3~ JT
S 2~331 ¢642 S 4~~3~ ¢J9
E ~1~~~ &AK872 E ~23~~ aQT87543
~ 1~~~ W ~23~~
# 15 & A987652 A Mean: 5CXE-1 100 6.0 1 # 16 & AT72 A Mean: 5CXW-4 1100 13.0 1
v J85 A 150 2SN2 110 6.0 1 v AKQ98 A 290 4HXN4 590 7.0 1
o KJ Dif: 0 NS:-0 5DW-1 50 5.0 2 ¢ 9874 Dif: 0 NS:-0 4HN5 450 4.0 1
29 IMP:0 EwW:-0 A 0.0 4 » IMP:0 EwW:-0 A 0.0 4
o KJ4 » 4SN-2 -200 -2.0 1 4 Q5 & KJ983 2HS3 140 -4.0 1
v Q43 v K76 3NW3 400 -60 1 ||v 62 — v J75 3CW-1 100 50 1
¢ A986 ¢ T432 3NW4 -430 -7.0 1 + KQ6532 * 2HS2 110 -5.0 1
» K64 & AQT873 5SXN-2 500 -80 1 ||& KT5 & A7432 3NS-1 50 80 1
POV ABDN 4QT3 +¢VADN o064 4HN-2 -100 9.0 1
N ~~~3~ ¢AT92 N ~12~1 o743
S ~~~3~ 4Q75 S ~12~1 & AT
E 44~~2 &J52 E 1~~1~ &QJ9g86
33~~2 W 1~~1-~
# 17 & AT432 A Mean: 5HXW-3 500 11.0 1 # 18 a Q A Mean: 5DXS5 750 120 2
v 84 A -30 4SN4 420 100 1 v T976 A 110 5DS5 600 100 1
¢ J2 Dif: 0 NS:-0 5CXW-1 100 4.0 1 ¢ T954 Dif: 0 NS:-0 4DS4 130 1.0 1
& QJ86 IMP:0 EwW:-0 A 0.0 4 & 1983 IMP:0 EwW:-0 A 0.0 4
aJ & 9875 5DS-1 -50 -1.0 1 & K532 & AJ964 4HXW-1 100 0.0 1
v AKT763 v Q9 3HW4 -170 -4.0 1 v AK84 I v QJ52 5DS-1 -100 -5.0 1
¢ 3 ¢ QT7 3NN-4 -200 -5.0 1 ¢ 6 ¢ J82 5SXES5 -650 -13.0 1
& A9543 & KT72 4SXS-2 -300 -7.0 1 & 7652 aJ 4SXE5 -690 -13.0 1
P VBN 4 KQ6 5CXW5 -550 -11.0 1 ¢ VABN 4, T87
N ~4~3~ ¢J52 N34~~~ 93
S ~4 ~3 ~ ¢ AK98654 S 34~~~ ¢ AKQ73
E4~3~~a E ~~35~ aAKQ4
4~3~~ W ~~35-~
# 19 aT9 A Mean: 1NE-1 100 5.0 1 # 20 a4 A Mean: 6HW-1 100 13.0 1
v Q653 A -110 1NW1 -90 1.0 1 v 742 A -660 5SW-1 100 130 1
¢ AJ42 Dif: 0 NS:-0 1NE1 -90 1.0 1 ¢ QT43 Dif:0 NS:-0 A 0.0 4
& 143 IMP:0 EwW:-0 A 0.0 4 & 19765 IMP: 0 EW:-0 5HW5 -650 0.0 1
# J86 & KQ43 1NW2 -120 0.0 3 & A8762 # KT9 4SE5 -650 0.0 1
v AK7 v JT42 1NE3 -150 -1.0 1 v AQJT98 + v K65 5HW6 -680 -1.0 1
¢ T9763 + K 2CXN-2 -300 -5.0 1 2 ¢ J9 4HW6 -680 -1.0 1
& KQ & J876 &8 & AKQ43 6HW6 -1430 -13.0 2
® eV AN A2 ®+VAN 4 Q53
N ~1~~~ 998 N ~~~~~ 3
S ~1~~~ Q85 S ~~~~-~ + AK8765
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